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a) sina =

b) cosa = 5

C) tana = 13

BORESBUTROINZ sinf, cosl, tanh TERHE.

a) sin(180° —0) = /\

b) cos(180° —0) =
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e) 90° = f) 120° = g) 135° =

105°K45°  30°
A 2km B

d) 45° =

h) 150° =

[B(CH<]



MEECTRSNICRDBZEBHCTERE.

b4 b4 2r 5w
ST ) 5= © 3= D=
5w 3 T
e) = f) 5= 8 | = h) 37 =

9] BORESBULTRDINZ sinf, cosf, tanh THRE.

a) sin(—0) =
b) cos(—0) =
m+6
¢) tan(—0) = ) 6 —Z

d) sin(zw + 0) =
e) cos(m +60) = \\

f) tan(r +60) =

IRDIBZERD K.

a) Siann = b) cos(—BTn) = c) tan(—HTn) =

RDFRINZHTA 0 ZReHDK. 212U, 026 <27 £TD.

a) sin€=\/7§ b) V2cosf =1
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a) AOPQ [CRHLEEBZEALT, PQ? % cos(a — B) & P
ALTEY. q

—1\ 0 ’ }1

b) P, Q DEENZENZ P(cosa, sina), Q(cos B,sinB) THDZEEF ST, PQ? % cosa, cosp,
sina, sinf ZRAWTERE.

c) a) &Eb) DE/REHHET, cos(a — p) DIlEERZRE.

d) BRI sing = cos(% - 9) EAWT, sin(e + ) DIEFBERE.
(E> b tcos(5 — (@ + B)) = cos((5 —a)—B)).]

RDPRINERET. 12720, 05 x <27 &9 2.

a) sin2x = cosx b) cos2x +3cosx —1=0
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